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Please mﬁ}i: eé?{{. 35 'g_fief‘,\fo'?lowing instructions carefully before attempting questions :
There are .E\.;IGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question nos. 1 and § are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section. :

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to and if answered in much longer
or shorter than the prescribed length, marks may be deducted.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for answering
the question itself.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off, '
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SECTION A
Ql. Tr=feRaa weler w97 1 IW AT 150 ST | T ¢

Answer the following questions in about 150 words each :

(a) T AW T 99 B WA w6 uRa d wyg fHEEl hl o W
=TfEe 2 HR0 T |
Would you advocate that the income of rich farmers should be taxed in
India ? Give reasons.

(b) “uEiafRal (afud) g i YRTER FT T €id § |7 W1 AW YA F
TeM H 30 Y ¥ HEHa & ? 39 I & e A |
“Subsidies are a source of inefficiency and corruption.” Doeyousragree
with the statement in the Indian context ? J ustlfy your,answer.

() Wﬂﬁﬁmﬁﬁﬂﬁaﬁwﬁmqﬁlﬁﬁm@%a o7 g @
ﬁwm%wm%%q\ \Hmmmw%
What caused the, problem of non-performing assets of Indian commercial

WO\ ™
h ks .':mt\]\E what-cures are being suggested to solve the problem ?
\

v @ (C/

@) wﬁwﬁmﬁ%ﬁ@mmm%mmﬁaﬂqﬁw
fifga & 2
What were the considerations underlying the initiation of the railways
and the road transport system in India in the 19th century ?

(e) maﬁﬁwﬁﬁﬁnhﬁﬁ%maﬁtmﬁqﬁaﬁmq{
T it feoft ferfem |
Write a brief note on the state of manufacturing in India in the
18th century and the subsequent de-industrialisation.
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Q2. (2) v FEd %1 w0 A R 2 78 P 196 waed § yra % Redw @)

Q3.

ra yoR T w2 2 '

What is drain theory ? How does it explain the backwardness of India in
the 19t century ?

(b) = vk fomm o SEfimdl v & o # faftwr wR ¥ wrdy sveeraee ¥

20

i gfehivn & wewal ofedT gon o1 2 AR @ % um § Rfie sem
UL |

Do you think that the attitude of the British Government towards the

Indian economy changed markedly at the turn of the 19th century ? Give
specific instances supporting your argument.

© ¥ ufafes wea & e fifm yeR B yeaenst f oz § s
9 A B-R foem ofafifea 3 2 fd=m Hift |

What were the broad considerations underlying the different types of
land settlements in India during the colonial rule ? Discuss. \ \(\

,, %\f’\@(\ .
\
(a) mﬁmﬁﬁmmm_ j%ﬂﬁmwﬁwﬁmmmm
W

T e 8 ?

3 . .
Wh% i?’\k\\ﬁ?’?ﬁ \assessment of the principal impact of the recent
de:

y J. W% . .. @ . . .
monetization in India in the immediate and medium terms ?

\ CA
(b)\(mt%%mﬁ%amﬂmwsﬁmm%lsﬁmaﬁw
ﬁﬁq;maqaﬂawmmﬁaﬁﬁ%amaﬁﬁq,ﬁﬂ%m@mﬁmm

Thar B |

India has a vast potential to reap a demographic dividend. Explain the
point and discuss the necessary measures to realise it.

() ﬁaﬁwaﬁﬁm%maﬁm(ﬂs&ﬁ.)ﬁﬁﬁﬂhm%
wrfEs oiw A W TR @ R 2 e Rrem # sae Frsaer S
@%ﬁmwmﬁwmﬂa@wwmt@?ﬁ%?

What is the broad trend of the manufacturing sector’s relative share in
GDP in India over the last four decades ? How do you view its

performance and what actions does the government contemplate in this
matter ?
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Q4. (a) @ H onfdfes WYlg & wy-wy wdt g8 /mwar ft =@ W ? | 9@ W YA
%@@@%aﬁwmmwm%maﬂqﬁqﬁmmﬁ
HTvTE & ?

India’s economic growth is associated with rising inequality. How does it
so happen and what actions need to be taken to mitigate the problem ? 20

(b) W IR R fowt o gv & A 9Ra & fogeft =maw it = wgfy w sk
e @ A9 W we fevft fafag |

Write a note on the broad trend of India’s foreign trade and current -
account balance during roughly the last one decade. 15

(¢) wa TR R fafEw Hife =1 aareieeers e fifva |

Critically examine the Disinvestment Policy of the Government of India. 15

oN \
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wvE B
SECTION B

5. FrefeRam wee W w1 ST T 150 yraat # i :
Answer the following questions in about 150 words each : 10x5=50

(@) Ea Tiia A WA F gl el 39 (SLAH) § F w1 anfdes aemeE
R T @ R | o Rrem A 7y rfeaten i FHAR Hl @ifha
AT B 2 TWHAIT |
Relative contribution of agriculture to the GDP of India has been going

down steadily since Independence. Do you think this highlights a
weakness of the economy ? Explain. 10

() TR onuiie o H T H AR IuSH Aafifea THUR B WL
$ifs | .

Explain the concept and the underlying ratlonale o@iﬂ\\iergal\Basic

- : %\ \

(c) Wwa <t anfifs wafg H, qgﬁ\, gaawﬁquﬁmﬁmx%% ?
What role aIeMSMEel p]}\ymg in India’s economic growth ? 10

(d) &/Q(g‘\\%mﬁmﬁaﬁmmmﬁwaﬁﬁﬁﬁwﬁg

o1, AUy aTd § T & 3 referasen w1 vuweeiA fhan 17 geas i |

“Though economic liberalisation in India in the mid 90s aimed at

industrial growth, actually the services sector led the economy.”
Elucidate.

10

10
() w3 R ¥ wra fi T A 7@ F qradfg @ IRa & P w® wf
TET T ] ? 91 TR IS Awg 94 i S gwar @ 2 €989 H THesT |

Do you think the recent appfeciation of Indian currency is harming
India’s exports ? Can it have a beneficial side too ? Explain in brief. 10
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Q6.

Q7.

(a)

(b)

(c)

(a)

(

(b)

(c)

o

T # et e % Rt skt @ wife amnfie-onfies sy o
e | Yg@ FreEH H IgE A ok TR w1 oo e
HThTH A Y |

The various anti-poverty programmes have not achieved the desired

socio-economic progress in India. Write down the major programmes and
your broad based assessment of their weaknesses, 2

Wﬁmﬁﬁm-m%mﬁm-aqw-wﬁéwml

Wh:ﬂt are the merits and demerits of the case of farmers’ loan waiver in
India ? Explain. 1¢

T YRE @rerEl % Iewed § awenfik @, o off iy
F9 931 FHifoar § | gere Hifdm | >3 ikl

Eve:n thou'gh India is self-sufficient in the production of foodgrains
Indian agriculture is faced with some major challenges. Eluciﬂatef\ , 15

: WA
. 1\00

ﬁ@sﬁaﬂawﬁﬁ%aﬁmaﬁﬁm?m: 3T%.) i T framens
B ot R 2 e Wé*ﬁj@%m%mw%mm
qo aa{\m?m@w\ﬁzm I AT w1l 2

s \'1 \'\ N }
V:%\:(\:;:$L %:E:fl‘;iﬁznbzl roi: 1;:am.F'DI play in a backward economy ? What
1 en following to attract FDI and wh
should the country adopt ? N 20

TEa1 W1 o a1e 9Ra A anfels frem € ©
il L g Tﬁm&a%ﬁmmm@

Give a brief account of the evoluti
. . on of the concept of eco i i
in India after Independence. ° PR 15

e W (huwd) B owwe HT | vy
FRIAR H FF8 FhR TR o) o1 w1 2 | Sy v

Explain GST. Analyse how it is going to impact Indian business, 15
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zé. (a) Wzmﬁmaﬁwﬁmw'm%lmmﬁqﬁ
%1 frverur foRa TeRR T 2

The quality of employment, in general, in India is perceived to be
alarming. How would you analyse the situation ? 20

(b) TR Huare F RER ¥y #, urE # $g F TSA R GEEE F A
6 fufy = & dftr e wwga Fif |

Give a short analysis of the state of devolution of resources from the
Centre to the States in India in the light of the idea of fiscal federalism. 15

(¢) W ¥ Wa=d § 31@ e ia safw A i feufa i nfafafy & @ 8 2o
76 T % he Y THEAH F9 W U @ ? fafiree s i |

How did per capita income in India behave since Independence ? Has it
improved the well-being of the people uniformly ? Give specific reasons. 15
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